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During active transport molecules are carried across
the cell membrane against the concentration gradient

from dilute solutions to concentrated solutions-

Transport proteins transport the nutrients from the

{?v X gradient. Some SPAG errors.
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surrounding soil solution into the cell.

reguires energy which comes from cellular

respiration released by mitochondria (which is why

This

these cells contain a lot of mitochondria)-

For
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example. root hair cells absorb mineral ions from
the soil- Inside the small intestines. glucose is
transferred from the small intestines into the blood
stream via active transport-
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AQA Biology B3.1a srorocys

Exchange of materials

Question

Explain why adding large amounts of sugar
to a freshly prepared fruit salad
produces fruit syrup.

Command word
Explain: To link points in a logical
manner.

Connectives
Because, therefore, consequently, so,
this means, as,...

<<Dissolve<<<<<concentrated<<<<<dilute<<<<solution<<<<<<<LLLLLL
semipermeable<cell<membrane<<<<<osmosis<<<<<4marks<<<<LLLLLLLL
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However. there are many more problems
associated with artificial hearts. Firstlya.
the success rate is very low (l)and many
receivers of artificial hearts do not
survive for long. The actual device has also
got a limited lifespan(l) and needs to be
recharged on a regular ba51s(l) The patient
might experience a lot of <1scomfort from
the battery and/or controllar (1). Finallya,
there is an increased risk of infection (1).
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E Water travels from the _
(@) roots via the xylem (1)
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1-2 marks: There is a brief
description of both methods
and at least one
disadvantages or advantages
from the examples given
below. Poor SPAG-.

3-4 marks: There is a clear
comparison of the two metho
including at least one
advantage and one disadvantage
from the examples given below-
Some SPAG errors.

{ 5= E\mapks There is a clear
and detailed comparison of the
two methods with at least two
advantages and disadvantages
from the examples given below-

QAlmost faultless SPAG.

The advantages of a kidney transplant are thaﬁ
unlike with dialysis. there is no build-up of toxzns
in the blood- Furthermore. a kidney transplant will
prevent high blood pressure, blood clots-. which are
more likely in a patient on dialysis. and
infections- It is also cheaper in the long run to
have a kidney transplant as a patient will need to
go hospital on a very regular basis for the
dialysis- With a kidney transplant you are also free
from other restrictions.: such as the restricted diet
you are tied to when you are on dialysis- However-
it is difficult to find a donor with matching tissue
and even if you do. there is still the risk of
rejection even though you need to take immuno-=
suppressant drugs on a daily basis which is another
disadvantage that you do not have with dialysis-
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First- glucose. amino acids. mineral ionsa
urea and water are removed from the blood and
enter the kidney tubules by diffusion along
the concentration gradient (1).

Blood cells and proteins remain in the blood
as they are too large to pass through the cell
membrane. Next. all of the glucose(l) and some
ions (1) are reabsorbed back into the blood by
active transport- some water is reaiY%orbed by
osmosis (l). The remaining wateis urea and

minerals make up the urine (1).
s R rw\lwr.
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1-2 marks: A basic
description of one factory
farming method has been given
or one advantage or
disadvantage of factory
farming has been stated- Poor
SPAG.

|
3-4 marks: There is a
description

of at least one factory
farming method and an advan
or disadvantage is explained-
Some SPAG errors.
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Pg o g ., 84 (] EIJ Factory farming involves keeping animals- such as
[ 0. 0 0 o) (@®) hens. calves and pigs.: in cramped conditions inside
(:?'_ z S a o ﬁ :h temperature and light controlled pens. The animals
n K ) D) H are fed growth hormones and are treated with
Q. ct © O (o) prophylactic antibiotics- Limiting the movement of
'5' (,_2 g % = S the animals means that less energy is lost through
Q O (DI = ‘% w movement- Controlling the food intake and feeding
('_)" R 3 g = = 8 the animals with growth hormones means that the
v W © 3} Ny~ ct B animals will grow faster and are ready to be
::' 8 Hh o+ (D|; o slaughtered earlier- However.: keeping so many
< O + = S animals close together means that diseases can
< g g‘(D EP w spread faster and animals are more stressed which
-+ 0 Q really is cruel towards the animals-
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Increasing mesh sizes will allow small fish
that are caught in the net to escape (1)
This is an advantage as more fish will be
able to grow big enough to breed (1) and
maintain fish stocks (1)-.

The same argument applies to prohibiting
fishing during the breeding season (1)-

Although prohibiting fishing in breeding
grounds is trying to ensure that fish are
able to breed and therefore maintain fish
stocks.: there is no guarantee that all fish
will remain in the area (1) during the
entire breeding season-

Enforcing fishing quotas attempts to
maintain fish stocks but is a strategy that
is difficult to enforce and control (1).
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All of the above strategies have a series
Impact on fishermen as all controls make it
harder (1) for them to get a good catch
which 1s needed to guarantee a good income
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